-Lesson 12

1. Complete the number sentence by expressing each part using hundredths. Model using the place
value chart.

ones hundredths

[ RN
saves 1 tenth + 12 hundredths = _22 _hundredths
deadR

esese 10 hundredihs + 12 hundredihs = 22 hundredths

bis.

Ta make like units, | change T tenth to:10 hundredths.
10 hundredths + 12 hundredths = 22 hundredths.

2. Solve by converting all addends to hundredths before solving.

a. 6tenths + 21 hundredths = 6@ hundredths + 21 hundredths=_81 hundredths

. This is just like Problem 1. Instead of drawing place value disks, [ change
the tenths to hundredths in my mind. Each tenth eqguals 10 hundredths.

b. 27 hundredths + 3 tenths = 27 hundredths + 30 hundredths = _ 57 hundredths

| can’t add because the uriits are not alike. 1 can’t add 1 cat plus 2 dogs;
I have to rename with like units. | can add 1 animal plus 2 animals.

3. Solve. Write your answer as a decimal.

3. 021 14 7

8. o - L g —

' 10 ° 100 b 100 + 10
30 21 51 14 0 84 .
— o 2 o o e = e = (1, 8
100 400 180 .51 100 + 100 100 i

To solve, | make like units of hundredths. | add, and then
| change the answer from fraction form to decimal form.

is

iesson 17: Apply understanding of fraction equivalence ta add-téniths-and hundredths.
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